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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 gielt F wew % & Al § 99 Hg LT (pH) TFHAATTEI
Tooth decay starts when the pH of the mouth is lower than:
Ans x 1.5.4

Question ID
Status

19864493069
:Not Answered

Chosen Option : --

X257
w355
K456

Q.2 ws ®iF H, 3fE UNGIMMICKY &I MIGNUYKCIM farm =iar & & st @is &
COMPLEXITY =t @ forar smeem?

If in a certain code, UNGIMMICKY is written as MIGNUYKCIM, then how will
COMPLEXITY be written as in the same code?

Question ID
Status

19864494215
:Not Answered

Chosen Option : --

Ans 1. LPMOYCTIXE
# 2 LPMOOCYTIXE
# 3 LPOMCYTIXE
v+ LPMOCYTIXE

Q.3 sma $r Rt givar G fwe it efafew B (@) & o Sl #ie
&
‘Who is the current director of Research and Analysis Wing (RAW), India’s foreign
intelligence service?

Question ID
Status

Chosen Option :

19864492275
: Answered

3

Ans
(1‘34‘ﬁl?~ra§nnﬂmm

Anil Kumar Dhasmana
X2 farToT 3
Kiran Bedi
, HATT ST
* Ajit Doval
X 4 feeteay oA T

Dineshwar Sharma

Q4 Ao WEER Saat a7 THATT ARG IFRTET FiT 82
Who is the only Indian economist to have won the Nobel prize?

Question ID
Status
Chosen Option

19864492158
:Answered
14

e ST wt

| Abhijit Banerjee
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2 =
Amartya Sen

faa B
< 3.
Amit Mishra

faarer &faa

Avinash Dixit

< 4
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Q.5 35 AT F1 =I97 H{ =7 HE T2 F 9: 30 Fr wEY g9vr B @ 2w et [5G
Select the time that would depict the correct mirror image of 9:30 on a clock. Status Answered
Ans X 1. 6:30 Chosen Option : 3
X 2.4:30
V'3 2:30
X4 730
Q.6 ’
o= gor #Y, Question ID : 9864492479
22 - (/{5 — (—48) + (-16)} Status : Not Answered
Solve the following: Chosen Option : --
22 — (1/H) {5 — (—48) + (—-16)}
Ans « 1.24
X222
<321
K40
Q.7 T oA H CATEF To I ga¢ B TR & Il & F Tow
e 5 1; a-ﬂ?rk o & Question ID : 9864493775
Status : Answered
X, Y AR Z r 3w Al a4 2 Chosen Option : 1
FU:
1Y F 399 (X+2) 5T 5mm §
2. X AT Y ve w1y Z & 740 3R wAR § st Z 7500 FAT ¥
Consider the given question and decide which of the following statements is sufficient to
answer the question.
‘What is the average daily wage of X, Y and Z?
Statements:
1. Y’s salary is half of (X+Z)
2. X and Y together earn T 40 more than Z and Z earns T 500
Ans ( 1.
FIer FUT 2 gACg § T FT FUT 1 HAT &
2 alone is sufficient while 1 alone is insufficient
X 2
Fad FIUST 1 IO g A% Fad HUT 2 HIAT g
1 alone is sufficient while 2 alone is insufficient
x5, P iR Fum 2 S goeT F
Both 1 and 2 are sufficient
x o, T BT 1A FUA 2 qaTeT &
Neither 1 nor 2 is sufficient
Q8 FwEwr 428693745 # 9 AN 5 F TANT AHA T HHK & Srreritarm 15 R G aa
The difference between the place values of 9 and 5 in the number 428693745 is: Status Not Answered

Ans

< 1. 90995
W 2. 89995
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X 3.99995
X 4. 8995

www.facebook.com/superpathshalaﬂ

@ FUT FIT T FUlE F 9H F=W AT
A raised hammer possesses:

Ans
x 1 aifast F=r
Kinetic energy

x 2 i F=r
Mechanical energy
| ARl S
Muscular energy
fufas ==
W 4
Potential energy

x

Question ID : 9864493581
Status : Answered
Chosen Option : 4

Q.10 \rE m & B T g§ TEG S AT T (Ey) BT HeT N EET AT SHE
AT F v & TG 2v 7 T AT ST 82

‘What will be the value of the kinetic energy (Ex) of a moving body with mass m, if its
speed is doubled from v to 2v?

1
xi?
1

5 Ex
4E,
AE,

_Ekﬁaﬁ-étrhaéﬂaﬁM|

There will be no change in E

2E,

X4
2E;

Ans

Question ID : 9864493422
Status : Answered
Chosen Option : 4

U Fraof@d & ¥ @i |1 U 3T B 0T AGH § 2
Which of the following is NOT a property of acids?

Ans x1_
3FT Arer A &t ool # qiafda #r Ear g

Acids turn blue litmus red

xz_mmmwm%

Acids have sour taste
< 3.
3l &R & TT1T fASE oIduT §1aT &

Acids form salts with bases
. 3 F TG FHIAT A §
Acids have bitter taste

Question ID : 9864493290
Status : Answered
Chosen Option : 3

Q.12
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Question ID : 9864493919
Status : Not Answered
Chosen Option : --
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ofy & M Rt F ¥ TE T Sae v A AT # A T 9 T ’
g g Eal

olalo

o (157), (26,8) 3R (3,4.9)
(1,5,7), (2,6.8) and (3.,4,9)

o, (187, (24.9) 3 (3,6,8)
(1,5,7), (2,4.9) and (3,6.8)

v (187, 248 3T (3,6,9)
(1,5,7), (2,4.8) and (3.,6,9)

x o (15:8), (24.7) 3N (3,6,9)
(1,5.8). (2,4.7) and (3.6.9)

X

Q.13 &l & %9 & T He T 375 F Wler oftd ag F 38 QU Telh FATd
Fe o foIC T 345 # S9e US| W bt widud Fa g3 &7

Dipali bought a set of cups for T 375, but then had to sell it later to clear old stocks for ¥ .
345. What is the percentage of loss that she incurred? Chosen Option : 1

Ans x17
v28
X316

Question ID : 9864492989
Status : Answered

X414
Q.14 & =% g W faw #1 3 77 # & & ¢ EuRond & ¥ ST @ )
SR ¥ ; Question ID : 9864493921
Status : Answered
o Chosen Option :1

:mﬁmﬁmtm,qﬁmﬁmﬁmﬂsﬁaﬁmmaﬁrw
& 25% FH A ¥ &0 w7 §

TEUROT:
1. O AFE H9= 9= Fr @9 B FH F TFA 2
2. % FEHAT FUFIOT ZANT &Y 7§ §H Follg &1 fa2ier T Tt £

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
Due to water crisis in the city, the authority had asked all the citizens to reduce their water

consumption by 25%.

Assumptions:
1. Many citizens may reduce their water consumption.

2. Many activists may protest to this advisory by the authority.

Ane . Fael TEURVT 2 afAted gl
1.
Only assumption 2 implicit.
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Zl;ra’HsﬂT;r?rzﬁaﬁ%?r%l

Neither 1 nor 2 is implicit.

1 R 2 gaT EuRene dafaka §
Both 1 and 2 are implicit.

| e AR 1 et 2

Only assumption 1 implicit.

x

x

v

www.facebook.com/superpathshalaﬂ

Q.15 #g W & 77 3R I & vare F fPOw v & s ¢ o

forms a common passage for both urine and sperms in human males.

Ans m
v SR

Urethra
X2 EE ”iE L
Oviduct

K32 E
Ureter
S EELRER
X2

Vas deferens

FEd |

Question ID : 9864493498
Status : Answered
Chosen Option : 3

Q.16 M =eT & oA @7 Tehe AT Soiegiel ST HaH & Fhaell gidr & ¢

The maximum number of electrons that can be accommeodated in M shell is:

Ans of 118
<22
<38
X 432

Question ID : 9864493253
Status : Answered
Chosen Option : 3

QU7 Prafaf@a & ¥ #ia a1 v vFRRefiE siEaEs ¥ 2
Which of the following is an amphoteric oxide?
x 1 Faa SEATFASS

Carbon dioxide

2. L

Ans

<
Magnesium oxide

s I (Il) HTFEES
Iron (IT) oxide
TeAATH HFEEs

W 4

Aluminium oxide

Question ID : 9864493312
Status : Answered
Chosen Option : 2

Q.18 By H ¥ 37 i O ¥ § 3r 3madl SerderT dr &7

The fraction from the ones listed below that will NOT lead to a recurring decimal is:
Ans x 1 4
56
7

fz.g
~ 3.

&
56

FB Group: SSC Railway GK Aptitude

Question ID : 9864493021
Status : Answered
Chosen Option : 3
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Valence electrons decreases
, A TEAT 7 A §
The number of shells increases
X s AOTF AHR FF g ST &
Atomic size decreases

v

Question ID : 9864493054
Status : Answered
Chosen Option : 3

N rgm FT AT & ?

What is a tissue?

Ans x1.

F RRBI A 7T T F TAR @ &, e Bt 38 8 1 & e gl &

Cells which are similar in origin, but dissimilar in form and function

v &)
¥ FRHT A 7 T T, R@er & 3K 7 Wy 7 77 @i &

Cells which are similar in origin, form and function

X3

T HIFT AT T B g1 €. g eEs i s s A gA= gt §

Cells which are dissimilar in origin, but are similar in form and function

p
F HIRFT ST T T 4, GTT 7 3R FE H & e e §

Cells which are dissimilar in origin, form and function

Question ID : 9864493175
Status : Answered
Chosen Option : 3

Q2 Ghey Gwar & 28% T A 35l dEar = 27
28% of a number is 35. What is the number?
Ans o 1.125
< 280
X< 3120
X 4.108

Question ID : 9864492706
Status : Answered
Chosen Option :1

Q.22 5T & 5w 3oae-Td Tew o 2022 F 39F wAw e F A
Teerdy < &2

‘Which north-eastern state of India has signed up to host the 39th National Games in the
year 20227

Ans Ao
v &)
Meghalaya

EzEiress
Mizoram
L

Tripura

a8
X 4 e
Q19 g g 3mafw aifesT & wagl & & F & & F= @ 82
‘What happens as we go down the group in the periodic table?
Ans x 1 T T FEAT UT S &
The number of shells decreases
X ,, TOH SO FH E A §
X2
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Question ID : 9864492430
Status : Answered
Chosen Option : 3
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Q.23

TR AR A s AR m sRre=a T
F T FuT g2 B

T AT & S gEtT §7

T

1. F@rd F 9fd, AfHEr @ AT F gwelar 99 81
2. T w7 oams AT AfEar @ 9fy ==Y S #AY A9 (cousin) B

Consider the given question and decide which of the following statements is
sufficient to answer the question.

How Swathi is related to Namitha?

Statements:

1. Swathi’s husband is the only son of Namitha’s mother.
II.  Swathi’s brother and Namitha’s husband are cousins.

v &)
Rrrma ek A FRTcaar1 a2 gaea 1

Either I or IT is sufficient to answer the question.
X2
few o weT 7 3o & F T 2 3er 9@ea &, 9 1 AT S JEr
gl
II alone is sufficient while I alone is not sufficient to answer the question.
X3
T 91T wee & 3ol & & AT 1 el qaiieq §, STaiF 2 3Hehell 9ATH oar
gl
T alone is sufficient while IT alone is not sufficient to answer the question.
X4
foT 71T o # 3o & F e 1 3k 2 A T #

Both I and IT are sufficient to answer the question.

Question ID : 9864494277
Status : Answered
Chosen Option :1

Q.24

38 faweq & 789 HT S & 7 g F Fea ww & BT 595+ 7

A B C D
Select the option that correctly fits in the blank space in the given figure.

&
._-c.®r
G

Question ID : 9864493915
Status : Answered
Chosen Option : 1

FB Group

: SSC Railway GK Aptitude

Question ID : 9864494101
Status : Not Answered
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ﬁmﬁf@aqwaﬁfﬁaﬁﬁgﬁsm%mﬁmm(ﬁﬁ)mmﬁll Chosen Option : -- J

srehtO -3e, raguS -2, tachW -E’IE, Rlec - =m=er

Tl For Seger 9000 T o7 A TS F Feuee B AN oA H F@re
The given pie chart represents the annual yield of certain crops in tons.

If the total production is 9000 tons, then the yield of rice is tons.

Ans 5 1. 2000
X 23000
v 31000
X 41500

Q.26 i Y ; Y
wed HTpia (erugif melborP)aT el # &l aTel Wel Yfatad I+ Oliestion 1D : 9864493841

Status : Answered
Chosen Option : 4
Problem Figure

Answer Figure

A A

Choose the correct water image of the given problem figure.

Problem Figure

Answer Figure

o0e9

Ans X1A

FB Group: SSC Railway GK Aptitude
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Q.27 rfis AR aefes & FFaN, T a5 I deEt ® A g
According to an early Indian philosopher everything is made up of

Ans x1_4
X22
x33
V5

basic elements.

Question ID : 9864493327
Status : Answered
Chosen Option : 3

Q.28 frwfafee & ¥ 5w &7 § ool 3Ty % BT aNd TR 2@ e
e fow A §7

The Arjuna Awards given by the Government of India is for public achievement in which
of the following fields?

Ans x1q:m%;q.

Literature
E Rl ir=)

Economics
I IR
3 LY

<2

| Poverty Eradication
o

v
Sports

Question ID : 9864492314
Status : Answered
Chosen Option : 2

a2 %,gaﬂtfa:rar.;tr FTT ST

Find the L.C.M aaf“g , g and ;

Ans x 1. 30
X< 240
V'3 20
X 425

Question ID : 9864492603
Status : Answered
Chosen Option : 3

Q.30 Rr=fafae sfcafs & 3= st #r g ¥ o T s R
AT 9% S AE R

A$1%MB#EENC=3!0D+KP

The number of symbols that are preceded by a letter and not followed by a number in the
following expression is

A$1%MB#H6&NC=3!0D+KP

Ans x1_2
V21
X34
X443

Question ID : 9864493974
Status : Not Answered
Chosen Option : --

Q.31 fw w3 + e g &T s e & A S et & shew
T guie Toar 37

‘Which Indian author has chronicled the life in the Kumaon hills in the book ‘Things to
Leave Behind™?

Ans

FB Group: SSC Railway GK Aptitude

Question ID : 9864492312
Status : Answered
Chosen Option : 1
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x 1 oIfer e’
Shashi Tharoor
X 2 e o
Vikram Seth
. T e
Namita Gokhale
x4 AT AT
Anosh Irani

Q.32 gHEm BT (Problem figure) 3 #moft &1 3cat =T (Answer Figures) & &

. Question ID : 9864494129
e v sogeT B & T9e aqU

Status : Answered
Chosen Option : 4

Problem Figure

= o+ &
ey ?

Answer Figures

ok oy
B | B
= =
1 2

| e
S | G
- =
3 4

FaEar =T - Problem Figure
3’ = - Answer Figures

Complete the series given in the Problem Figure with an appropriate option from the
Answer Figures.

Problem Figure
= + I N
ol RQllge 1 ?
O E
Answer Figures
o | s | L
BB | F| G
= = - =
1 2 3 4
Ans X 1.3
X 21

Va2
X4 4

Q.33 T F=F A TACT FH & @0, vF AT 7 73420 F v 99 F FE ion ID - 9864492868
1 A AR HIAT H 43% FH AT FF T 10% T AT g7 Feear v Question ID :
g How & e =T o Status : Not Answered

To dispose of the old stocks, a person sold a tea-set for ¥ 3,420, which was 43% below the Chosen Option : -
cost price. In order to make a profit of 10% the seller should have sold the set for ¥
more.

Ans 1.7 1,812.60
V' 2 73,180
X 372,580
X 4.72,664.42

Q.34
Question ID : 9864493816

Status : Answered
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fET 1T o FF eATEH ¢ 3 aa’ & $HE # 3K & & o l Chosen Option : 4 J
T wuat § @ Sl gwieg 373

oEfas e X, VY, Z, U #k v F & Fiadr 3w d@emw 2

T
1.X, Y, 2, U 3t V &fEw g 8
2. Z faww F@= 7

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘Which of these natural numbers X, Y, Z, U, and V are even numbers?
Statements:

1. X, Y, Z, U, and V are consecutive numbers.
2. Zis an odd number.

Ans «"1_
FeT 1 3T FuT 2 TF T ST qITT §

Both statement 1 and 2 together are sufficient

X2
FIT FUT 2 AT § FGF FIT FUT 1 HIAT &
Statement 2 alone is sufficient while statement 1 alone is insufficient
< 3.
FFer FUT 1 AT § TS FIT FUT 2 F9ITT &

Statement 1 alone is sufficient while statement 2 alone is insufficient
x4;na;2rrr1 IRAT T FFT 2 9T &

Neither statement 1 nor 2 is sufficient

Q.35 e wfeius # ¥ Ry a1 varfed gt & | vk Wi wfatiues 7 v F e
FATC TEAT § | T + 3 T G@NT A1 &7 71 31 T A = g

A current I flows through a resistor. A source maintains a potential difference of V across .
the resistor. The energy supplied by the source i time t is: Chosen Option : 3

Ans X1 VI/t
X2VI
X3 VIt?
vVt

Question ID : 9864493165
Status : Answered

Q.36 we ToeRIEe T FEUATE 78 °C ¥ Sieas YA 9T aT9AT haar gem
The boiling point of an alcohol is 78 °C. What is the temperature in Kelvin scale?

Question ID : 9864493128

. Status : Answered
Ans X 1. 78K Chosen Option : 3

X 2341 K
X3 373K
v 4351K

Q37 & 1% Fafl Y F YR W FJIEUT g AL A

Question ID : 9864493989
Status : Answered

Buy : bought :: Chosen Option : 3

Select the missing word pair based on the given related pair.

Buy:bought::
Ans o 1.Ran : Run
X 2. Sang : Sing
# 3 Tore : Tear
+ 4 Shut : Shut
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Q.38 s v & wew ufde ==t § § v, de Hew e B wer & Rua i

o - . o Question ID : 9864492132
In which city is St. Peter’s Basilica, one of the most famous churches in Christianity,
located? Status : Answered

Ans X 1 a.ﬁm. (Vat:ican} Chosen Option : 2

Vatican

) foreateT (Lisbon)
Lisbon

v - S (Madrid)
Madrid

. T (Pisa)

Pisa

x

x

Q.39 v @Y FE F T BT A R B vE @El EF @ 10 9T H T TR 2 Question ID : 9864492972
I 4 B % UF WY F & 3R B B F ST o 58 aT G au uestion
A S FH 3T 7% ST @ ¥ B SR F Fr 13 U O AU A AR e Status : Not Answered
Tl &% @ o F aer wAEa e Chosen Option : --

‘Working together, pipes A and B can {ill an empty tank in 10 hours. They worked together
for 4 hours and then B stopped and A continued filling the tank till it was full. It took a
total of 13 hours to fill the tank. How long would it take A to fill the empty tank alone?

Ans xm 16 Eié:
16 hours
13 e
13 hours
15 oe
15 hours
12 &

12 hours

X2

v s

< 4

Q.40 IfE x2 + ax + b A T (x- 1) TIART T 2 Sar & ar 15 99 FTT &

ACFT x2 + bx + a B (x + 1) GIRT 0T T S € & -1 A F=ar g el bl s o
a? + b? & AT F4T ¢ Status : Answered

When x? + ax + b isdivided by (x - 1), the remainder is 15 and when x? + bx + a Chosen Option : 3
is divided by (x + 1). the remainder is — 1, then the value of a® + b? is:

ans X120
V210
X316
X8

Q.41
Question ID : 9864494118

Status : Answered
Chosen Option : 2
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e fGF TIT e F Fed A §U AF A B o U 3 IR O HieT |
Ty Af¥aa w9 @ Rerar s gar 2

FU:
=t T § & Rt & #lew § 57 T sveer aE 3T #

TArne:

1. dreit A weg & =ifew fF enrt ¥ d@tew F 3 amr A w1
2. §TIT F TieT F o cEnt & #uw # s § saer a6t fr ceer
w

Consider the given statement true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:

People complain that bus tickets are not available during festival seasons.

Conclusions:

1. People should be advised not to travel during festival seasons.
2. The government should bring in more busses during festival seasons.

Ans x1ﬁ¢ﬁ|ﬁ;&1a§mmm%1

Only conclusion 1 follows.

X 2
o ey 1 3R & & e 2 aeERor w2

Neither 1 nor 2 follows.

for fosh¥ 2 3regeRor e B

Only conclusion 2 follows.

X frd 1 T 2 g7 3gEor w g
Both 1 and 2 follow.

v &)

x

www.facebook.com/superpathshaIaA

Q.42 37y FeweT H1 AU SEET @ AT § o g an ey g A 7 9w
g HROT A g §:

If the resistance of a conductor is doubled, the current gets halved. This is because:

Ans X1I=En

v
X2] =V_R
X3 =VR
it

Question ID : 9864493326
Status : Answered
Chosen Option : 4

Q43 a1 & UdT T F o AfHaEs = = FEg §2

What are the receptors for detecting taste called?
Ans ‘, 1.
&G HfaEngs (Gustatory receptors)

Gustatory receptors
X2
gToT 3f&mEs (Olfactory receptors)

Olfactory receptors
X3

FB Group: SSC Railway GK Aptitude

Question ID : 9864493056
Status : Answered
Chosen Option : 4
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Hafceh 3fAaEs (Sensory receptors)
Sensory receptors

X 4
Tarafas 3fHamgs (Chemical receptors)

Chemical receptors

Www.facebook.com/superpathshalaﬂ

Q.44 59 F= & 9 ST (Problem figure) & WA HTEaT @ A o v 71w =
fawent & (Answer Figures) & & wea ofy & war adur =fy =g o gefr 2

|
L a7

Choose the correct mirror image of the problem figure when the mirror is placed to the
right of the figure.

Problem Figure

oy

L1640
e
VoA
< 3D
XaC

Question ID : 9864493835
Status : Answered
Chosen Option : 2

Q.45 for F 9 & F a0 & I 17 : 8 § Fafh aor AR @ &
HAAA 6 : 17 &1 TFs0r & W9 & Wiy @H F1 = AU §?

The ratio of sand to gravel in a mixture is 17 : 8 while that between gravel and cement is 6
: 17. What is the ratio of sand to cement in the mixture?

Ans 1.3 - 4
X217 - 17
<3289 : 48
X4+8:6

Question ID : 9864492986
Status : Answered

Chosen Option :1

Q.46 wTal 2018 &, TN & FEUAA BT §, ST AENA F g FEAAA o §?

As of February 2018, who is the Chief Minister of Telangana, who is also the first Chief
Minister of Telangana?

Ans m %ng-fr
r 0
Kadiyam Srihari

¥. TEIER 1T
K Chandrasekhar Rao

s & g
T Rajaiah

W2
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Status : Answered
Chosen Option : 2
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;. T AL
Chandrababu Naidu
Q.47 Frasiffs TecarEuTT FHiecee (G) & AT & W A% GanT & TS

Question ID : 9864493579
Status : Answered

Ans 1 Ua?ﬁ' Tol m Chosen Option : 4
Antoine L Lavoisier
7> &= Fhdfeser
Henry Cavendish
x , FESTh e
Isaac Newton
Sl Slecs
John Dalton

Q.48 ofy $ a5g Bewr v & FeaR 9 F AR WY AW F ¥ F9s & wAT ) _
A Y A T R @ RS aE R o ¥ Question ID : 9864493320
Status : Not Answered

The value of universal gravitation constant (G) was determined by:

X 4

If a body takes ‘t* seconds to go once round the circular path of radius ‘r°, the velocity v’

is given by: Chosen Option : --
Ans t
2mr
mr
X2v=—
2t
2mar
¢
2
x4. — 2mr

Q.49 F=r faw aTv FHERoT # UF & w2 st @ afaenfie & R e

T g F aeEsa 3k erEEET e aueT & Sl Question ID : 9864494096

Status : Not Answered

Chosen Option : --

5+3xB-4+2=4x3-10+2+7

In the given equation, LHS = RHS only when we interchange numbers on the
same side.

54+3%x6-4+2=4%x3-10+2+7

Ans
X1_43ﬂ¢7
4and 7

x5 HT 2
5and 2
x . 3T
Jand 7
v, 834
6 and 4

Q.50 Er=i AT Ao SUUT T TS
ST H P SﬂTFjaﬁfﬁ'T@IT LA oA Question ID : 9864493564
TEufe 1 9ar eeme?

: " . : — Status : Answered
Find the position of the image formed by a concave mirror when the object is placed
between P and F? Chosen Option : 3

Ans X1_F3ﬂ¢cﬁ;aﬁ‘|?r

Between F and C
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CHalE
Beyond C
x5 AT W
At infinity
o, TOEES

Behind the mirror

X2

Q.51 gfEr 123 x 356 =43788 @ & 1.23 x 0.356 T ATA FAT ZIM? Question ID : 9864492740
If 123 x 356 = 43788, then 1.23 x 0.356 =? Status : Not Answered
Ans 1. 4,3788 Chosen Option : --
X 2.0.043788
W'30.43788
X 4.437.88

Q.52 - -
fer are TIA & HUR T 37 & A H Question ID : 9864494040

Status : Not Answered
Chosen Option : --

MAKING : KGMANI :: CAPETO :

Select the missing term based on the given related pair.

MAKING : KGMANI :: CAPETO:
Ans - 1. POACTE

& 2. POCAET

v 3 POCATE

#< 4 POTECA

Q.53 31T epeT SiSeRITEETT HRUNR & &7 HErA 'F=ifesr 7 i o g
AT HE=E = e R 22

‘Who is the famous Indian actress who stars in the *Quantico’ TV series on American .
Broadcasting Corporation? Chosen Option : 2

Ans x1 aﬁﬂq@m

Deepika Padukone
) Ry a9=r
Priyanka Chopra

Question ID :9864492301
Status : Answered

o e i S " i Question ID : 9864492570
iﬂ?ﬁﬁmﬁmﬂﬁm%aﬁrmsﬁmqﬁﬁ%mﬁmﬁ uestion ID :
mﬁﬁmﬁmﬁﬁ?ﬁiﬂ?ﬂ%ﬁmmm@m@ﬁ Status : Not Answered

A Train leaves Kazipet at 5 a.m. and reaches Bangalore at 3 p.m. Another train leaves Chosen Option : --
Bangalore at 7 a.m. and reaches Kazipet at 5 p.m. When do the two trains meet? Assume
that the trains travels at equal uniform speeds.

Ans - 11
v CIG)

- 11 a.m.
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- 10
X2 A
10 a.m.
X3 aeT 12
12 noon

4_ah3ﬂ

1 pm.

Www.facebook.com/superpathshalaﬂ

x

Q.55 farereT &1 T4+ e # Wel T S HE
> ¥ o X, S &y R A = + o Question ID : 9864494212
T9gET ¢ |

Status : Answered
Chosen Option : 3

X X % X X ®x N x® »®
P EEE] + o+ ? + o+ +
LN L L . .. - .

Select the option that will correctly fit in the blank space in the given figure series.

+
+
+
+
+
+

.+ %
+ %

)
+
+
+

X

<2

+

+ X
+ X

v &3

+ X

<4 +

Q.56 Il 2018 &, gUeTe & RN EF T TTAW EeAE FT Alfoish Fi g7

As of February 2018, who owns the Hyderabad-based IPL team ‘Sun Risers Hyderabad®? Question ID : 9864492159
Status : Answered
Ans
« 1. mﬂﬁ A Chosen Option : 2
Kalanidhi Maran
x 2. 5 " [ w,
Chandrababu Naidu
X3 :
Chiranjeevi
. SFhel Pllciehel #gFTTIX
Deccan Chronicle Newspaper
Q.57
Question D : 9864494033
Status : Not Answered
Chosen Option : --
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Ans

99T T (Problem figure) ®r 3cax oSt (Answer Figures) & & 39T
e & @y 9@ &1

Problem Figures

EYE
R B3]
RSE

Answer Figures

A B C D
Complete the Problem Figure with an appropriate option from the Answer Figures.

Problem Figures

dRYEe
S|
PJE

Answer Figures

A B C D

v 1B
X 2D
X3 A
X4C

www.facebook.com/superpathshaIaA

Q.58 3r =1z gaw W fmn w o a7 w1 5 & @ Tuwond # @ w9 @ Pl

2l

giFm:
it wEfat Fr ST gear 9uE 2T Bl

Tdemom:
1. ¥a 3USATH F ST g ¥
2. o2l off S5 # Fo 3 e THE A e

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

All girls love reading novels.

Assumptions:
1. Novels are the only reading materials.
2. No girl loves to read other materials.

1 3k 2 2=t gEemone Afga #
Both assumptions 1 and 2 are implicit.
| e qauren 2 Afed @

Only assumption 2 is implicit.
| e a1 fafed &

Only assumption 1 is implicit.
4.;rr-fr 1 3kt 7 & 2 Afea &

Neither assumption 1 nor 2 is implicit.

Ko

x

X

v

Question ID : 9864493934
Status : Not Answered

Chosen Option : --

Q.59 weF O HN TR FH AEFET TF T GAAT A 8, orwET v 121 39 et

¥ ofE $ aR Y AEE TR g S A & A Jed 1 ANEer fhder
I (n =2 ST HY)

A copper wire when bent in the form of a square encloses an area of 121 cm?, If the same
wire is bent into the form of a circle, find the area of the circle: (Use rri:)

FB Group:

SSC Railway GK Aptitude

Question ID : 9864492471
Status : Not Answered
Chosen Option : --

Telegram Channel: t.me/ssccglinfo\



http://www.superpathshala.com/
https://www.facebook.com/superpathshala/
https://www.facebook.com/groups/superpathshala/
http://t.me/ssccglinfo

www.superpathshala.com

Ans x 1 150 T HEHET

150 cm?

x 153 T HEHAET

153 cm?

v 154 T HEHET

154 cm?
x o 155 T TEHET
155 cm?

Www.facebook.com/superpathshalaﬂ

Q.60 37 fereT T &1 997 H A e By AR & a1 ameem

T 2 |
F [ & [

A B C D
Select the option that would come next in the following figure series.

o |
F [ & [

A B ¢ D
Ans X1 D

v2C

X3 A

X 4B

Question ID : 9864494380
Status : Not Answered
Chosen Option : --

Q.61 2r ==Y s7TsAT HT TIAT J F AT 46 I ¥ IS W T, qF G,
TIE T WY RN o T T S TS g Fw

The sum of the present ages of two cousins is 46 years. Eight years ago, the elder one was
twice as old as the younger one. What is the present age of the elder cousin?

Ans
X1 30 I

30 years

v 28 EL)
28 years

x 5 26 el
26 years

x 5 22 EL)
22 years

Question ID : 9864492872
Status : Not Answered
Chosen Option : --

Q.62 U5 RN & IEE Toaa & ggae o o3, o A ufeaat S dla &
Fo BTl & AaA ¥ o= A 87

Identify a type of asexual reproduction which involves reproduction through parts of a
plant such as roots, stem and leaves?

Ans (1_

FB Group: SSC Railway GK Aptitude

Question ID : 9864493057
Status : Answered
Chosen Option :1
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gaEIde Usia-(Vegetative propagation)
Vegetative propagation

fa@s=T (Fragmentation)

Fragmentation

X HUL3T &l fqaATet (Fission)

Fission

HehelsT (Budding)

| Budding

X2

x

K4

www.facebook.com/superpathshalaﬂ

Q83 feway 2018 Fr @i H fAft w1 gerEAw gem
On which dates of December, 2018 will be Wednesdays?
Ans 1.4 11,18 AT 25
X 26,13, 20 3T 27
X 3.3,10,17 3T 24
V4512, 19 3T 26

Question ID : 9864492554
Status : Not Answered
Chosen Option : --

Q.64 w,x,y 3 z FRE F7 7 =ZEFUT TR TEAE § 07 § e =eras Tt &
Jtaa 18 § st et fesan demst & 3fwa 22 31 3wst &1 aREg = g7

Four numbers, when arranged in ascending order, are w, x, y and z. The average of the
smallest three numbers is 18, while the average of the largest three was 22. What is the
range of the data?

Ans x 1.10
X211
V312
X 413

Question ID : 9864492718
Status : Not Answered

Chosen Option : --

Q.65 &1 afsear &, AIE H ST T U FHifeeT garr Wi fRer ST §

In the process of , the iron is protected by a coating of zinc.

Ans x 1 Rear= (greasing)

greasing

v TealAS T (galvanization)

galvanisation

s fASTRITGERIT (alloying)

alloying
TASESTST (anodizing)

anodising

X 4

Question ID : 9864493631
Status : Not Answered
Chosen Option : --

Q.66 71 tan 8 —secéd _ P
IR tan6 = ~§, A p F AT F AP T = F

7 . tan@—secd -p
If tang = v then find the value of p such that s — 8
Ans x 1.50
V275
#3100
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Question ID : 9864492576
Status : Not Answered

Chosen Option : --
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X 425

ﬁ?ﬂﬁf sﬁ é @I Eﬂ FE* Hé’ %? QUeStIO D : 9864493812
Status : Not Answered

Coach Chosen Option : --

—— Players

Girls- =I=fFar Coach- &= Players- T&emsr

In the following Venn diagram which region represents the coach who is also a player but
not a girl?

Girls Coach

—— Players

Ans X1_R
< 2U
vaT
X448

Q.68
1 ? 3 Question ID : 9864492564

Status : Not Answered

e 3e 7 Fifare, 7fe 3w o 11 3T 13 F s B e

1 ? 3

Find the missing digit if it has 11 and 13 as factors?
Ans X 1.2
X238
X36
via

Q.69 1 1
afca——-=1gara®+ — =7 Question D : 9864492856
<]

a

Status : Not Answered
Ifa— 1 — ]_: then a2 + iz =7 Chosen Option : --
a a

Ans x12
X 21
v 3
X 44

Q.70 SM@A#N2B40&3C5P+D2

R BT sq@e F EEH adRT B FiA § R e wHg e a8 & SRR LS S22 o)
Status : Not Answered

AO+, MB5, N32, $2P Chosen Option : --
$M@A#N2B40&3C5P+D2

Using the above sequence find the characters that do NOT belong to the group:

AO+, MBS, N32, $2P

Ans X1 N32
V2 $2P
X s MB5
X+ AO+
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Q.71 & =1 g W =R # ka7 = & & 7 Aemanst 7 @ Fa @

Ans

e & @)

AT
oUTH T F FET 2, "&hﬁa:raa:qgﬂ#asraﬂﬂgmaﬂtmésmmﬂ
all

H T

1. T S $T T FE THE FAT B
2. 9UTH &I W9l # Hellg &= &1 gl 2l

Consider the given statement and decide which of the given assumption(s) is (are) implicit.

Statement:

Shyam tells Gita, “The ways to reach Sri Lanka is through air and water™.

Assumptions

1. Gita likes to travel to Sri Lanka.
2. Shyam is fond of advising people.

1 Fao AT 2 RAfga g
Only assumption 2 is implicit.
|1 3R 2 2=t fafea
Both assumptions 1 and 2 are implicit.
1 3k 2 2=t fafea @@ 2
Neither assumption 1 nor 2 is implicit.

4_aﬁ|ﬂmﬂm1ﬁ|‘%ﬁ%l

Only assumption 1 is implicit.

x

v

x

Question ID : 9864494220
Status : Not Answered

Chosen Option : --

47 3249 F T T §:

Ans

The square root of 3249 is:
< 1.63
v 2. 57
# 359
X 467

Question ID : 9864492883
Status : Not Answered
Chosen Option : --

Q.73 v eafda e WA =1 3 - = W o W 15 e &l & aguer ¢ sw gl

Ans

T F H 3T I RO A T AT TET A

Travelling at Eth of his usual speed, a man is 15 minutes late. What is his usual time to
cover the same distance?

x 115 ee
15 minutes
45 fB=1e
45 minutes
v &) 1 &feT

1 hour

75 fA=E

75 minutes

X2

X4

Question ID : 9864492510
Status : Not Answered

Chosen Option : --

Q74 garrer T Ggerm s I H gam o

The first Partition of Bengal took place in the year

FB Group:

SSC Railway GK Aptitude

Question ID : 9864492103
Status : Not Answered
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Ans x 1 1904 m l Chosen Option : -- J
1904 AD

v 1905 sgaT

1905 AD

x5 1903 &gt

1903 AD

x4 1906 @dT

1906 AD

Q.75 379eT a0 gy F 9 H Uhs F U cAfdd 9 yidfda ofer F ¢mar § &
O e g 7 ¥ ug T # @ w gear & ST 872

A person holding a pen in his left hand sees his reflection in the mirror holding the pen in
his right hand. This is due to which of the following phenomena? Chosen Option : --

Ans x1_
el Al Fidfea (Total intemal reflection)

Total internal reflection

Question ID : 9864493403
Status : Not Answered

, BIEE] SchAUT (Lateral inversion)

Lateral inversion
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